ANT—4% B ( 800
B == 3
ERH= 2
HaES xEZ yEERZ ISIES GOES
1 0 0 1 1
2 3000 0 0 0
3 5000 0 0 1
EZREFS il B2 E A
1 1 2 2.05E+05 4440
2 2 3 2.05E+05 4440
HAOT—4%
HRES u v 6
1 0 0 -0.0095429
2 0.082399 -16.3593 0.00272655
3 0.082399 0 0.01090619
ZHRES N Nj Qi Qj
1 25000 25000 17320.5081 17320.51
2 0 0 -25980.762 -25980.8
aES Rx Ry Rm

1 -25000 17320.51
3 -15 25980.76

25

EERES

3.099E+07
3.099E+07

Mi
-2.05426E-08
51961524.23

300

X &
0
25000
0

WXi

Mj
51961524.23
0

300

Y&
0
-43301.3
0

WX

0
0

)

MTTE
0
0
0
1] 1
wyi wyj A F
0 0 3.099E+05 235
0 0 3.099E+05 235
ARGAOBITONERRSHE RBAHEL
5.630631 167.6827 173.3133602 0.738
0 167.6827 167.6827295 0.714
KM 67796.27 N
67.80 kN



ANTF =% X ( 800 25 300
B = #= 3
ERH= 2
HimES xEZ yEEISE [EES v BEREES X &
1 0 0 1 1 0 0
2 2500 0 0 0 0 0
3 5000 0 0 1 0 0
BERFS Sl His 2 E A | wxi
1 1 2 2.05E+05 4440 3.099E+07 0
2 2 3 2.05E+05 4440 3.099E+07 0
HhTF—%&
HEES u v 0
1 0 0 -0.0163976
2 0 -25.6213 0
3 0 0 0.01639764
BEES N Nj Qi Qj Mi Mij
1 0 0 50000 3.64E-11 -3.72529E-09 62500000
2 0 0 -3.638E-11 -50000 62500000 -3.72529E-09
famE&ES Rx Ry Rm
1 0 50000

3 50000

300)

M7 &
0
0
0
wyi wyj A F
-20 -20  3.099E+05 235
-20 -20  3.099E+05 25

ARSI ISNERRISNE  ISHEL
0 201.691 201.6909772 0.858
0 201.691 201.6909772 0.858

RADHHE  23.30298 N/mm
23.30 kN/m

===




ANT—%

Eim#=
BHRM=

RES
1
2

BRES Bl

1

HAT—%

XEERZ

5000

2

1
yEEAE

0 0

0

Him 2

1 2
\

0 0

0 -327.953
Nj

0 0
Ry

0 50000

®# (

2.05E+05

0
-0.098385843

Qi
50000

Rm
-250000000

YR

Qj
5

800

4440

0000

25

[EER

3.099E+07

Mi
-250000000

XA &

WXi

Mj

300

Vi E

300)

M E

0  -50000

WX]

wyi

wyj
0 0

z
3.099E+05

ARG B IS D E BRI HE

0 806.7639

806.7639086

RAMT

F
235
IS
3.433
14564.36 N

14.56 kN




ARTF—4%& B ( 800 25
Himig= 2
BRE= 1

BRES xER YEERR XHR YR

1 0 0 0 0 0

2 5000 0 1 1 1
EZRES il B2 E A | wxi

1 1 2 2.05E+05 4440  3.099E+07
HHT—%
HRES u v 0

1 0 -39.3543 0.01574173

2 0 0 0
EEXEES Ni Nj Qi Qj Mi Mj

1 0 0 0 0  -20000000
mES Rx Ry Rm

2 0 0 20000000

EERES RIS

-20000000

300 300)

VITE M &

0 0 -20000000
0 0 0
WX] wyi wyj Z F
0 0 0 0 3.099E+05 235

AAGAE BIFISHERACHE  IBHEL
0 64.54111 64.54111269 0.275

72821800 Nmm
72.82 KNm

BAE—XAY MTE




AAT—4
== 3
ZRM= 2
HimES xEEZE
1 0
2 2000
3 5000
ZRES fixl
1 1
2 2
HAT—%
Hm&ES u
1 0
2 0
3 0
ZHES Ni
1 0
2 0
Hm&ES Rx
3 0

B (
YEERE xFR
0 0
0 0
0 1
Bis 2 E
2 2.05E+05
3 2.05E+05
v 0
-122.261  0.03384473
-56.6702 0.030696383
0 0
Nj Qi
0 -10000
0 -30000
Ry Rm
30000 110000000

800 25 300
yiR iR XfiT &

0 0 0
0 0 0
1 1 0

A | wxi
4440  3.099E+07 0
4440  3.099E+07 0

Qj Mi Mj
-10000 -9.2442E-08 -20000000
-30000  -20000000  -110000000

YA

WX]

300 )

ES MTFE
-10000 0
-20000 0 o
o T
— ] HH HH
wyi wyj Z F
0 0 0  3.099E+05 235
0 0 0  3.099E+05 235
HMARGHBITICHERANGHE  BHEL
0 64.54111 64.54111269 0.275
0 354.9761 354.9761198 1.511
&AM 13240.33 N
13.24 kN



ANT—2%& X ( 800
B == 2
ERH= 1
BimEs xEE yEERR XH R GIES

1 0 1 1

2 5000 0 1
ZHRES HiA1 Big 2 E A

1 1 2  2.05E+05 4440
HAhT—%
HRES u v 0

1 0 0 -0.0131181

2 0 0 0.00655906
BHZES Ni Nj Qi Qj

1 0 0 -10000 -10000
aES Rx Ry Rm

1 0 -10000

2 10000

25

EEROES

Mi

0
0

3.099E+07

50000000

X{ir &

wxi

Mj

300 300 )

VA& M7 E

0 0 50000000
0 0 0
WXj wyi wyj VA
0 0 0 0  3.099E+05

ARG EBRITISHE RKISHE
0 0 161.3528 161.3527817

BAE—X MMTE

235

ISHEL
0.687

72821800 Nmm
72.82 kNm




ARNT—4 B ( 800 25 300 300 )

== 3
BEHRY= 2
HimES xEEZE YEERR xHR GOES EROES [eEED yITE M7 E
1 0 0 1 1 0 0 0 0
2 4000 0 0 1 0 0 0 0
3 6000 0 0 0 0 0 -50000 0 H HH HH\m
il I
A A
EZES Hial B2 E A | wxi WXj wyi wyj Z F
1 1 2  2.05E+05 4440 3.099E+07 0 0 0 0  3.099E+05 235
2 2 3 2.05E+05 4440 3.099E+07 0 0 0 0  3.099E+05 235
HAT—%
Hm&ES u v 2
1 0 0 0.01049449
2 0 0 -0.020989
3 0 -62.9669 -0.0367307
ZHRES Ni Nj Qi Qj Mi Mj wAEISHHBITISHERRICHE  ISHEK
0 0 -25000 -25000 0 -100000000 0 322.7056 322.7055634 1.373
2 0 0 50000 50000 -100000000 0 0 322.7056 322.7055634 1.373
Him#ES Rx Ry Rm KM 36410.9 N
1 0 -25000 36.41 kN

2 75000



ANTF—2%& B ( 800
B m = 2
BEHRY= 1
HimES xEEZE YEERR xIR OES
1 0 0 1 1
2 5000 0 0 0
ZRES finl Him 2 E A
1 1 2 2.05E+05 4440
HAT—%
HimES u v ]
1 0 0 0
2 0 -122.982 -0.032795281
ZHES Ni Nj Qi Qj
1 0 0 50000 1.09E-11
BaES Rx Ry Rm
1 0 50000 -125000000

25 300
iR XfiT &
1 0
0 0
wxi
3.099E+07 0
Mj

-125000000 1.86E-08

yHE

WX]

0
0

300 )

M7TE
0
0
wyi
-10

wyj Z

-10  3.099E+05

AL BTSN E BRI NE

0

403.382 403.3819543

BANHHE

F
235
SN
1.717
5.826 N/mm

5.826 kN/m




ANT =% & ( 800 25 300
B 4= 3
ERH= 2
HimES xEE yEEISE xH R v [ ER XfTE
1 0 0 1 1 0 0
2 3000 0 0 0 0 0
3 6000 0 0 1 0 0
ERES a1l &2 E A | wxi
1 1 2 2.05E+05 4440 3.099E+07 0
2 2 3 2.05E+05 4440 3.099E+07 0
Hh7—%
fE&ES u v 6
1 0 0 -0.0159385
2 0 -26.5642 0.00177095
3 0 0 0.01239662
BEES N Nj Qi Qj Mi Mij
1 0 0 45000  -15000 -3.72529E-08 45000000
2 0 0 -15000  -15000 45000000 -1.36951E-08
famE&ES Rx Ry Rm
1 0 45000

3 15000

300)

0 0
0 0
0 0
WX] wyi wyj A F
0 -20 -20  3.099E+05 235
0 0 0 3.099E+05 235
sAAL L EITISHERARISHE  ISHER
0 145.2175 145.2175035 0.618
0 145.2175 145.2175035 0.618
BRADMAE 32.37 N/mm
32.37 kN/m

MIFICRARMITE—X ¥ FAELTVRWD, SEE
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ANT =& X ( 800 25 300
i = 3
ERE= 2
HaES xEZ yEERZ xHER GOES BEROES X &
1 0 0 1 1 0 0
2 2500 0 0 0 0 0
3 5000 0 0 1 0 0
EZRES finl B2 E A | wxi
1 2 2.05E+05 4440  3.099E+07 0
2 2 3 2.05E+05 4440  3.099E+07 0
HAOT—4%
Hia&ES u v 0
1 0 0 0.00163976
2 0 0 -0.0032795
3 0 0 0.00163976
ERES N Nj Qi Qj Mi Mj
1 0 0 -10000 -10000 0 -25000000
2 0 0 -10000 -10000 25000000 0
MaES Rx Ry Rm
1 0 -10000
3 10000

EES

300

0
0
0

)

M7 &
0
50000000
0
wyi
0
0

wyj

0
0

z

3.099E+05
3.099E+05

A RIS E B IE D E RRGHE

0 80.67639 80.67639086
0 80.67639 80.67639086

BAE—XY FTE

WWHH”HH

,HH“HHUMA

A
F
235
235
IS
0.343
0.343

145643600 Nmm
145.6 kNm




ANT—4%
Himig= 4
BRE= 3
HimES  xEEZ
1 0
2 1000
3 3000
4 5000
BXRES a1
1
2 2
3 3
HATF—%
HSES u
1 0
2 0
3 0
4 0
EZRES Ni
1 0
2 0
3 0
fimES  Rx
1 0

®# (

yEEIZ NSOES

o O o o
o O O

2 2.05E+05
3 2.05E+05
4 2.05E+05

v 0
0 -0.0062967
-5.87691 -0.0050374
-9.65493 0.00188901
0 0.00629669

Nj Qi
0 16000
0 6000
0 -14000

Ry Rm
16000
14000

800

GOES

A

Qj

= O O

4440
4440
4440

16000
6000
-14000

25 300
EEROES IREES

0 0
0 0
0 0
0 0

| wxi
3.099E+07 0
3.099E+07 0
3.099E+07 0

Mi Mj
-2.31104E-08 16000000
16000000 28000000
28000000 1.1555E-08

300

YT E
0
-10000
-20000
0

WX

)

MFE
0
0
0
0
wyi wyj Z F
0 0 3.099E+05 285
0 0 3.099E+05 285
0 0 3.099E+05 285

IS # T SN B RAIS I E IS
0 51.63289  51.63289015 0.220
0 90.35756  90.35755776 0.385
0 90.35756  90.35755776 0.385
&AM A 52016 N
52.02 kN
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